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Question Number : 1 Question Id : 630680201888 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
All of the following are types of Rutubat Saaniya, EXCEPT:
Options :
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1. ¥ Rutubat Manwiyya
2. % Rutubat Talliyya
3. # Rutubat Qariba ba In‘iqad
4. ¥ Rutubat Mi‘wiyya

Question Number : 2 Question Id : 630680201889 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is a part of Ala-i-Tabi‘at?
Options :

1. % Ustuqussat

2. ¥ Mizaj

3. % Akhlat

4. % Asbab

Question Number : 3 Question Id : 630680201890 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are associated with Quwate Mutazakkira, EXCEPT:
Options :

1. ¥ Quwate whahima

2. ® Quwate hafiza

3. ¢ Quwate Mutasarrifa

4. % Quwate Mutakhayyala

Question Number : 4 Question Id : 630680201891 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Rutubat Qariba ba In‘igad is:

Options :

1. # atype of secondary fluid permeating in the tissues like dewdrops and capable of being transformed into
nutrients as required.

2. % atype of secondary fluid, located at the orifices of the minute channels near the tissues, thus irrigating
them.

3. ¥ atype of secondary fluid that is about to congeal and become a part of tissue.

4. % a type of primary fluid, located at the orifices of the minute channels near the tissues, thus irrigating
them.

Question Number : 5 Question Id : 630680201892 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

2/42



4/3/23, 12:25 PM
Correct Marks : 2 Wrong Marks : 0.66
Which of the following pairs is odd?
Options :
1. # Mirrah Safra - Gayr Tabie Safra + Rageeq balgham
2. # Mirrah Muhiya - Gayr Tabie Safra + balgham ghaleez
3. # Saudae jamoori - Gayr Tabie Safra + sauda
4. ¥ Mirra-i-Sawda’ - Ghaleez sauda + balgham

Question Number : 6 Question Id : 630680201893 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The first cervical vertebra is:

Options :

1. ¥ Mihwar

2. ¥ Fagra Hamila

3. # Faqarat-i-‘Ajuz

4. # Faqarat-i-‘Us‘us

Question Number : 7 Question Id : 630680201894 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Identify the INCORRECTLY matched pair.

Options :

1. ¥ A‘da’ Murakkaba ba Tarkib Awwal - Rectus femoris
2. % A‘da’ Murakkaba ba Tarkib Dom - Eye

3. % A‘da’ Murakkaba ba Tarkib Som - Face muscles

4. % A‘da’ Murakkaba ba Tarkib Chaharum - Head

Question Number : 8 Question Id : 630680201895 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The correct order of A‘za-e-Barida is:
Options :

1. # Dimagh, Ribaat, Aasaab, Azm

2. ¥ Azm, Ribaat, Aasaab, Dimagh

3. % Azm, Ghudruf, Aasaab, Dimagh

4. % Azm, Aasaab, Ribaat, Dimagh

Question Number : 9 Question Id : 630680201896 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :

3/42



4/3/23, 12:25 PM
1/3
Correct Marks : 2 Wrong Marks : 0.66
All of the following are transmitted through foramen spinosum, EXCEPT:
Options :
1. # the middle meningeal artery
2. % the posterior trunk of the middle meningeal vein
3. ¥ the meningeal branch of the hypoglossal nerve

4. % the meningeal branch of the mandibular nerve

Question Number : 10 Question Id : 630680201897 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following associations is INCORRECT?

Options :

1. # Anterior boundary of superior mediastinum - Manubrium sterni

2. % Superior boundary of superior mediastinum - Plane of the thoracic inlet

3. % Posterior boundary of superior mediastinum - Upper four thoracic vertebrae

4. ¥ Inferior boundary of superior mediastinum - Superior surface of the diaphragm

Question Number : 11 Question Id : 630680201898 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following structures pass through the large openings in the thoracoabdominal diaphragm,
EXCEPT:

Options :

1. # vena cava opening - right phrenic nerve

2. ¥ space of Larrey - superior epigastric artery
3. # aortic opening - thoracic duct

4. % oesophageal opening - left gastric vessels

Question Number : 12 Question Id : 630680201899 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Markaz Ishtiha is located in:

Options :

1. ¢ Sarir Tahtani

2. % Mabda’ al-Nukha‘

3. % Sarir Fawqani

4. % Jasr
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Question Number : 13 Question Id : 630680201900 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Th prostate is responsible for:

Options :

1. # spermatogenesis

2. ® maturation of sperm cells

3. ¥ secretion of alkaline mucus

4. # production of glycogen

Question Number : 14 Question Id : 630680201901 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is correct regarding Vital Capacity (VC)?
Options :

1.¥ VC=IRV + TV + ERV

2. % VC=1IRV + ERV

3. % VC=TLC

4. % VC=FRC — IRV + ERV

Question Number : 15 Question Id : 630680201902 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following pair is INCORRECTLY matched?
Options :

1. # Rasilat-i-Qishr al-Kuzr Ma‘daniyya - Aldosterone

2. % Rasilat-i-Qishr al-Kuzr Sukkariyya - Cortisol

3. % Ghudad Sanubariyya - tri-lodothyronine

4. % Ghudda Nukhamiyya - Luteinizing hormone

Question Number : 16 Question Id : 630680201903 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following chapters is related with Ilmul Jarahat in Kitabul Tasreef?
Options :

1. % Chapter number 10

2. % Chapter number 17

3. # Chapter number 21

4. % Chapter number 30
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Question Number : 17 Question Id : 630680201904 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following pair is INCORRECTLY matched?
Options :

1. # Jalinoos - Kitab fi’l Asma’ al-Tibbiyya

2. % Khawarizmi - Mafatih al-‘Ulum

3. % Ibne Sina - Magqala fi Tartib Awzan-i Adwiya

4. % Zakariya Razi - Kitab al-Jami

Question Number : 18 Question Id : 630680201905 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are modes of transmission of AIDS, EXCEPT:
Options :

1. # contaminated blood

2. # gsexually

3. % maternal-foetal transmission

4. ¥ sneezing

Question Number : 19 Question Id : 630680201906 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are indicators of Human Development Index (HDI), EXCEPT:
Options :

1. # life expectancy at birth

2. ® knowledge

3. ¥ growth rate

4. % per capita income

Question Number : 20 Question Id : 630680201907 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following options is NOT a characteristic of health indicator?
Options :

1. ¥ Should be effective

2. % Should be specific

3. # Should be sensitive
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4. % Should be relevant

Question Number : 21 Question Id : 630680201908 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are correct, EXCEPT:

Options :

1. # Infestation - for persons or animals the lodgement, development and reproduction of arthropods on the
surface of the body

2. # Nosocomial infection - hospital acquired infection

3. # Eradication - termination of all transmission of infection by extermination of the infectious agent
through surveillance and containment

4. ¥ Surveillance - the continuous scrutiny of the factors that determine the occurrence and distribution of
disease and health

Question Number : 22 Question Id : 630680201909 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Identify the INCORRECTLY matched pair.

Options :

1. #® The aim of primordial prevention - Establish and maintain conditions that minimise hazards to health
2. ¥ The aim of primary prevention - Reduce the clinical manifestation of disease

3. # The aim of secondary prevention - Reduce the prevalence of disease by shortening its duration

4. % The aim of tertiary prevention - Reduce the number and/or impact of complications

Question Number : 23 Question Id : 630680201910 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are correct regarding secondary (booster) immune response, EXCEPT:
Options :

1. # shorter latent period

2. % production of antibody more rapid

3. ¥ antibody more abundant

4. ¥ antibody response maintained at higher levels for a shorter period of time

Question Number : 24 Question Id : 630680201911 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following are nervine stimulants?
Options :
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1. ¥ Summulfar, Hilteet, Zararech
2. % Afsanteen, Mushk, Ambar
3. # Kabab Cheeni, Rai, Abhal
4. % Aamla, Gauzaban, Affiun

Question Number : 25 Question Id : 630680201912 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Unhealthy and hard water due to admixture of earthy particles is:
Options :

1. # Ma’-e-‘Usr

2. % Ma’-e-Yusr

3. % Ma’-e- Rakid

4. % Ma’-e-Matr

Question Number : 26 Question Id : 630680201913 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Identify the INCORRECTLY matched pair.
Options :

1. % Beer bahooti - Advia Haiwania

2. % Sulaimani - Advia madaniya

3. % Shaa bua - Advia nabatiya

4. % Chaulmogra - Advia nabatiya

Question Number : 27 Question Id : 630680201914 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following pairs is incorrect?

Options :

1. # Haar Yabis Mizaj - Filfil Siyah, Lehsun, Rai

2. # Haar Yabis Mizaj - Aelwa, Afsanteen, Ustukhuddus
3. % Baarid Yabis Mizaj - Maazu, Phitkari, Affiun

4. % Baarid Yabis Mizaj - Chiraita, Shaitra, Aaqir Qarha

Question Number : 28 Question Id : 630680201915 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
All of the following are correct, EXCEPT:
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Options :
1. ® Waja‘ Saqib - piercing pain
2. % Waja* Zarabani - throbbing pain
3. # Waja‘ Hakkak - itching pain
4. ¥ Waja‘ Nakhis - dull pain

Question Number : 29 Question Id : 630680201916 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Anasarca in nephrotic syndrome occurs due to:

Options :

1. # increase in hydrostatic pressure in arterial end.

2. % increase in hydrostatic pressure in venous end.

3. ¥ decrease in colloidal oncotic pressure in the blood.

4. ¥ Na+ and water retention.

Question Number : 30 Question Id : 630680201917 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Identify the INCORRECT option.

Options :

1. #® Sagqirus - hard swelling with loss of sensation and pain

2. % Sal‘at - a type of movable swelling with varying size from gram seed to watermelon

3. ¥ Saratan Mutaqarrih - benign tumour, is associated with ulceration and purulent discharge

4, % Sal‘a Salima- encapsulated tumour and does not spread

Question Number : 31 Question Id : 630680201918 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The chief ingredient of Anushdaru lului is:
Options :

1. ¥ Asaroon

2. ¥ Aamla

3. % Bisbasa

4. % Badranjboya

Question Number : 32 Question Id : 630680201919 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Habb-e-Ahmar is composed of:
Options :
1. ¥ Shangarf, Sammulfar and Hartaal tabqi
2. % Sammulfar and Beesh
3. # Shangarf and Jadwaar
4. % Shangarf and Meetha telia

Question Number : 33 Question Id : 630680201920 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following?

Column A Column B
a. Sahq I. The process of separating the salty components
of the drug
b. Nakhl II. It is the process to obtain very fine powder
c. Taqtir III. The process of obtaining a distillate of a drug
d. Igla’ IV. Pulverization
Options :

L% a-1I, b-1, c- 111, d-IV

) w & IV, b-1, c-IL, d-III

; » alV,b-11 c- I, d- 1

4 % a-IL. b-IIL, c- IV, d- I

Question Number : 34 Question Id : 630680201921 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The most common pattern in fingerprint is:
Options :
1. # arch
2. ¥ loop
3. % whorl
4. # composite
10/42
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Question Number : 35 Question Id : 630680201922 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Post-mortem caloricity is seen in:
Options :

1. * arsenic poisoning

2. % cyanide poisoning

3. # chloroform poisoning

4. % strychnine poisoning

Question Number : 36 Question Id : 630680201923 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Zarq Ba‘d al-Mawt is:

Options :

1. * rigidity in the muscles of the cadaver.

2. # a spasmodic condition seen after death.

3. ¥ the discoloration or cyanosis of skin after death.

4. % aprocess of permanent cessation of all the vital functions of the body.

Question Number : 37 Question Id : 630680201924 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following colours of urine indicate the Barudate Miza;j?
Options :

1. * Bawl Utruji

2. % Bawl Tibni

3. # Bawl Ashqar

4, % Bawl Zaafrani

Question Number : 38 Question Id : 630680201925 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Identify the INCORRECT option.
Options :

1. # Majoon Muchras - Amraze Rehm
2. % Mufarreh Azam - Amraze Qalb

3. % Namak Katai - Amraze Meda
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4. % Habbe Kakra Singhi - Amraze Sadr

Question Number : 39 Question Id : 630680201926 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

‘Red currant jelly’ stool is a characteristic feature of:
Options :

1. ¥ intussusception

2. % volvulus

3. * incarcerated inguinal hernia

4. % Hirschsprung’s disease

Question Number : 40 Question Id : 630680201927 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following pairs is INCORRECTLY matched?
Options :

1. # Rasub Nukhali - Quroohe Masana

2. % Rasub Ramli - Hasate Kuliya wa masana

3. % Rasub Khamiri - Imtial, Wajaul Mufasil

4. % Rasub Mukhati - Wajaul Mufail, Irqun nisan

Question Number : 41 Question Id : 630680201928 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following

Column A Column B

a. Kayfiya al-Qar- I. Nabz Qawi

b. Zamana-i-Sukun II. Nabd Mustawi Mutlaq

c. Istiwa’-o-Ikhtilaf - III. Nabz Mutafawit

d. Nizam wa Adame nizam | IV. Nabz Mukhtalif muntazim

Options :

1. # a-1, b-II, c-III, d-IV
2. % a-1V, b-1, clll, d-IIT
3. ¥ a-1, b- 111, c-I1, d-IV
4. % a-II, b-11I, c-IV, d-I
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Question Number : 42 Question Id : 630680201929 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following?

Column A Column B

a. Humma al-Ghibb | I. occur due to putrefaction of phlegm

b. Humma Muwaziba | II. occur due to putrefaction of yellow bile

c. Humma al-Raba ITI. occur due to putrefaction of black bile

d. Humma Mutbiga IV. A type of fever that is sanguinous in nature

Options :
| % a1V, b-I1. e-1. d-III

) a-IL. b-1, c-IIL, d-IV

3 % aL b-II1, c-II, d-IV

4 % a-11, b-III, c-IV, d-I

Question Number : 43 Question Id : 630680201930 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The Dalk that draws the blood rapidly to the body surface is:
Options :

1. ¥ Dalk Khashin

2. % Dalk Taweel

3. %* Dalk Kathir

4. % Dalk Sulb

Question Number : 44 Question Id : 630680201931 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Identify the INCORRECT option regarding leech therapy.
Options :

1. ¥ Before therapy, the skin should be clean with betadine.
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2. % Avoid sudden temperature changes when transferring leeches from one container to another.
3. % The leeches are to be preserved in the clear water or non-chlorinated tap water.

4. % Bleeding disorder should be ruled out prior to therapy.

Question Number : 45 Question Id : 630680201932 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to the WHO, the lowest birth weight means:
Options :

1. # less than 2.3 kg

2. ¥ less than 2.5 kg

3. % less than 2.9 kg

4. % less than 3 kg

Question Number : 46 Question Id : 630680201933 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The commonest cause of Bawl fi’l Farash in children is:
Options :

1. # type I Diabetes Mellitus

2. # urinary tract infection

3. % respiratory tract infection

4. ¥ psychological stress

Question Number : 47 Question Id : 630680201934 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Identify the internal genital part.

Options :

1. % Vestibule

2. % Clitoris

3. ¥ Cervix

4. * Labia minora

Question Number : 48 Question Id : 630680201935 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
After ovulation, which of the following parts takes up the role of endocrine?
Options :
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1. # Stroma
2. ¥ Graafian follicle
3. # Vitelline membrane

4. % Germinal epithelium

Question Number : 49 Question Id : 630680201936 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Inqilab al-Rahim is:

Options :

1. ¥ a condition where the uterus descends and prolapses through the vagina.

2. % tearing of the uterus and cervix during childbirth especially in abnormal pregnancy due to Yubusat-i-
Rahim.

3. % uterine distension caused by altered cold temperament of uterus which weakens uterine faculty due to
conversion of its nutrition into pneuma.

4. % gensation of itching in uterine region and vagina due to acute yellow bile.

Question Number : 50 Question Id : 630680201937 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are correct regarding menopause, EXCEPT:

Options :

1. ® permanent cessation of menstruation at the end of reproductive life due to loss of ovarian follicular
activity.

2. % that the age of menopause ranges between 45 and 55 years.

3. ¥ the vagina becomes broader due to gradual loss of elasticity.

4. % ovaries shrink in size, become wrinkled and white.

Question Number : 51 Question Id : 630680201938 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following gases is often used for the process of laparoscopy?
Options :

1. ¥ Oxygen

2. ¥ Carbon dioxide

3. ¥ Nitrogen

4. % Helium

Question Number : 52 Question Id : 630680201939 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
Identify the INCORRECT statement regarding direct inguinal hernia?
Options :
1. % A direct inguinal hernia is always acquired.
2. ®# Women practically never develop a direct inguinal hernia.
3. # Predisposing factors are smoking and occupations that involve straining and heavy lifting.
4. % Direct inguinal hernia are mostly strangulated.

Question Number : 53 Question Id : 630680201940 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Ikhsa’ is a:

Options :

1. ¥ castration

2. % circumcision

3. # catheterisation

4. % epilation

Question Number : 54 Question Id : 630680201941 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following pairs is INCORRECTLY matched?
Options :

1. # Grid iron incision - Appendicitis

2. # Kocher incision - Cholecystitis

3. ¥ Kerr incision - Pancreatitis

4. # Lanz incision - Appendicitis

Question Number : 55 Question Id : 630680201942 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is included in tuning fork tests?
Options :

1. % Watch test

2. ¥ Rinne test

3. % Voice test

4. % Monotic test

Question Number : 56 Question Id : 630680201943 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Which of the following clinical feature is NOT related to chronic suppurative otitis media?
Options :
1. ¥ Fever with chills
2. % Mucoid or mucopurulent ear discharge
3. # Hearing loss

4. * Perforation

Question Number : 57 Question Id : 630680201944 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following factors does NOT influence the intraocular pressure?
Options :

1. ¥ Decreased episcleral venous pressure may result in rise of IOP

2. # Resistance to aqueous outflow

3. % Dilatation of pupil

4. ®# Seasonal variations

Question Number : 58 Question Id : 630680202002 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the Mizaj of Unsur;

Column A Column B

a. Unsur Arz I. Barid Ratab

b. Unsur Maa | II. Barid Yabis
c. Unsur Hawa | III. Haar Ratab
d. Unsur Naar |IV. Haar yabis

Options :
| % @ I11. b-I. c-IV . d-II

) % a-1. b-IIL, c-II . d-IV

3 a-IL., b-1. c-III . d-IV
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4 % aIV.b-IL c-III . d-I

Question Number : 59 Question Id : 630680202003 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Identify the most Motadil organ the from following.
Options :

1. ¥ Raha ki jild

2. #* Pusht ki jild

3. % Anafkijild

4. % Uzan ki jild

Question Number : 60 Question Id : 630680202004 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The other name of Aza Mutshabehtul Ajza is:
Options :

1. ¥ Aza Mufrida

2. % Aza Murakkaba

3. # Aza Tabiya

4, % Aza Haiwania

Question Number : 61 Question Id : 630680202005 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Sin Waqoof'is also known as:

Options :

1. ¥ Sin Shabab

2. # Sin Namu

3. * Sin Shakhkhat

4. % Sin Kahulat

Question Number : 62 Question Id : 630680202006 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Mizaj of sin Kahoolat is:

Options :

1. # Haar Ratab
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2. % Barid Ratab
3. % Barid Yabis
4. % Haar Yabis

Question Number : 63 Question Id : 630680202007 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT a type of Ghair Tabai Balgham according to taste?
Options :

1. # Balgham Hamiz

2. % Balgham Maseekh

3. ¥ Balgham Khaam

4. % Balgham Maaleh

Question Number : 64 Question Id : 630680202008 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following:

Column A Column B
a. Terqgawah I. Scapula
b. Umood al figar | II. Radius
c. Kafif III. Vertebral column
d. Zanda Ala IV. Clavicle
Options :
| a-IV. b-IIL, c-I. d-II

a-11, b-1III, c-IV, d-I

3 % alIL b-l eIV, d-II

4 % L b-111, c-II. d-IV

Question Number : 65 Question Id : 630680202009 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66

All of the following are branches of the arch of the aorta, EXCEPT the:

Options :

1. # left subclavian artery
2. % left pulmonary artery
3. # brachiocephalic artery

4. % left common carotid artery

Question Number : 66 Question Id : 630680202010 Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :

1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the vertebras number:

Column A Column B

a. Thoracic vertebrae | 1. 7

b. Cervical Vertebrae |II. 5

c. Lumber vertebrae | III. 12

d. Coccyx V. 4
Options :

| s a-L bIIL e-ILL d-TV
5 % aIL bl eIIL d-IV

3w alll b-1I, c-IV, d-I

4 @lL b-L ¢l d-IV

Question Number : 67 Question Id : 630680202011 Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :

1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are joints of the upper limb, EXCEPT:

Options :

1. # Mafsil e Katif
2. ¥ Mafsil e Kaab

3. % Mafsil-i-Marfiq
4. % Mafsil e Rusghia
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Question Number : 68 Question Id : 630680202012 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following statements is INCORRECT with respect to the right lung?
Options :

1. % It has 3 lobes.

2. % It has 3 fissures.

3. ® Tt is larger and heavier than the left lung.

4. % Its weight is about 700 grams.

Question Number : 69 Question Id : 630680202013 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The total duration of the cardiac cycle is:
Options :

1. # 0.6 seconds

2. % (.8 seconds

3. % 0.11 seconds

4. % (.13. seconds

Question Number : 70 Question Id : 630680202014 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Oncotic pressure of plasma is mainly due to:
Options :

1. # fibrinogen

2. % globulin

3. % albumin

4. % prothrombin

Question Number : 71 Question Id : 630680202015 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Erythropoietin is secreted from:

Options :

1. ® Banqras

2. % Kabid

3. % Kulia
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4. * Ghuddah mazi

Question Number : 72 Question Id : 630680202016 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The maximum quantity of digestive juice is secreted per day from:
Options :

1. # saliva

2. % gastric secretion

3. # bile

4. % small intestine secretion

Question Number : 73 Question Id : 630680202017 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The normal count of Kurriyat Abyaz is:
Options :

1. % 2000-6000/cumm

2. % 4000-11000/cumm

3. % 8000-15000/cumm

4. % 10000-25000/cumm

Question Number : 74 Question Id : 630680202018 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Autolysis is done by:

Options :

1. #* mitochondria

2. # Golgi bodies

3. ¥ lysosomes

4. % peroxisomes

Question Number : 75 Question Id : 630680202019 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Anisocytosis is a condition where:
Options :

1. % the RBCs are small

2. % the RBCs are large
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3. % there is less Hb in the RBCs
4. ¥ the RBCs are unequal in size

Question Number : 76 Question Id : 630680202020 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The output of the heart in the resting supine position is:
Options :

1. % 3.5 litres/minute

2. % 4.0 litres/minute

3. % 4.5 litres/minute

4. % 5.0 litres/minute

Question Number : 77 Question Id : 630680202021 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In Al Qanoon fit Tibb, Kulliyat Advia and Advia are described in:
Options :

1. # Volume I

2. % Volume II

3. % Volume III

4. % Volume IV

Question Number : 78 Question Id : 630680202022 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Hakim Ajmal Khan belongs to:

Options :

1. # Khandaan Azizi

2. % Khandaan Usmani

3. % Khandaan Shareefi

4. # Khandaan Quraishi

Question Number : 79 Question Id : 630680202023 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Khunagq is caused by:
Options :

1. # virus
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2. ¥ bacteria
3. % protozoa

4. % fungus

Question Number : 80 Question Id : 630680202024 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Sozaak is a/an:

Options :

1. # air borne disease

2. # water borne disease

3. ¥ sexually transmitted disease

4. * food borne disease

Question Number : 81 Question Id : 630680202025 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The incubation period of Shaheqa is:
Options :

1. # 3to 9 days

2. % 7 to 14 days

3. % 11 to 20 days

4. % 15 to 25 days

Question Number : 82 Question Id : 630680202026 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The average birth weight of a newborn is:
Options :

1. * 45kg

2. % 4kg

3.¥ 3 kg

4. % 2 kg

Question Number : 83 Question Id : 630680202027 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The dengue virus is transmitted from man to man by:
Options :
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1. # sandflies
2. ¥ Aedes aegypti
3. % Culex
4. # ticks

Question Number : 84 Question Id : 630680202028 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The commonest form of anthrax in man is:
Options :

1. ¥ cutaneous

2. # alimentary

3. # pulmonary

4. % hepatic

Question Number : 85 Question Id : 630680202029 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following statements is INCORRECT with respect to tetanus?
Options :

1. #* Itis an acute disease.

2. ¥ It is induced by endotoxin of Clostridium tetani.

3. % It is characterised by muscular rigidity.

4. % The mortality varies from 40 to 80%.

Question Number : 86 Question Id : 630680202030 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The chemical name of Dettol is:

Options :

1. # chlorhexidine

2. ¥ chloroxylenol

3. % trichloromethane

4. % hexachlorophene

Question Number : 87 Question Id : 630680202031 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Identify the INCORRECT option.
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Options :
1. % Kuchla - Azaraqi
2. # Dhatoora - Jozmaasil
3. ¥ Bazerul Banj - Ajwaen Khurasani
4. ¥ Habb al Qilt - Babuna

Question Number : 88 Question Id : 630680202032 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Identify the animal origin drug from the following options.
Options :

1. % Ushna

2. % Bisfaij

3. ¥ Bozidaan

4. ¥ Shaakh Gozan

Question Number : 89 Question Id : 630680202033 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The botanical name of Asrol is:

Options :

1. ¥ Rauwolfia serpentina

2. # Ficus carica

3. # Terminalia bellirica

4. % Glycyrrhiza glabra

Question Number : 90 Question Id : 630680202034 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following drugs is NOT used as Dafe e Humma?
Options :

1. % Afsanteen

2. # Khaksi

3. ¥ Babchi

4. # Karanjwa

Question Number : 91 Question Id : 630680202035 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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All of the following drugs are used as musaffiyat dam, EXCEPT:
Options :
1. ®* Unnab
2. % Kachnaal
3. ¥ Halela
4. % Mundi

Question Number : 92 Question Id : 630680202036 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Chal Mogra is considered as drug of choice for the:
Options :

1. ¥ Yergan

2. % Juzam

3. # Diq

4. # Aatshak

Question Number : 93 Question Id : 630680202037 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Identify the correct option.

Options :

1. * Delphinium denudatum - Khaksi

2. % Piper nigrum - Amaltas

3. ¥ Papaver somniferum - Afyun

4. % Glycyrrhiza glabra - Mako

Question Number : 94 Question Id : 630680202038 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Samaghiyat should be used before:
Options :

1. % 1 year

2. % 2 years

3. ¥ 3 years

4. % 4 years

Question Number : 95 Question Id : 630680202039 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
Identify the INCORRECT option.
Options :
1. # Serum bilirubin - 0.3-1.3 mg/dl
2. % Serum creatinine - 0.6-1.2 mg/dl
3. ¥ Total protein - 4.7-6.3 mg/dl
4. % Blood urea - 20-40 mg/dl

Question Number : 96 Question Id : 630680202040 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Bol Rasaasi is a type of:

Options :

1. ¥ Bol Abyaz

2. * Bol Aswad

3. % Bol Tibni

4. % Bol Wardi

Question Number : 97 Question Id : 630680202041 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Nutmeg liver refers to:

Options :

1. #* portal cirrhosis

2. % chronic venous congestion

3. % amoebic hepatitis

4. % pyogenic abscess

Question Number : 98 Question Id : 630680202042 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Markings of 0.5, 1 and 11 are found on a/an:
Options :

1. * RBC pipette

2. % WBC pipette

3. * haemoglobin pipette

4. % semen counting pipette

Question Number : 99 Question Id : 630680202043 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Which of the following is NOT a type of Amraz Khilqat?
Options :
1. # Amraz Satooh
2. % Amraz Waza
3. % Amraz Majari

4. % Amraz Tajaweef

Question Number : 100 Question Id : 630680202044 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

E. coli produces which of the following toxins?
Options :

1. ¥ Shiga toxin

2. # Haemolysin

3. # Enterotoxin

4. # Verocytotoxin

Question Number : 101 Question Id : 630680202045 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is the hallmark of acute inflammation?
Options :

1. * Connective tissue

2. % Macrophage

3. # Granulation tissue

4. % Neutrophil

Question Number : 102 Question Id : 630680202046 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following types of necrosis is grossly opaque and chalky white?
Options :

1. # Coagulative necrosis

2. ¥ Fat necrosis

3. % Liquefactive necrosis

4. * Caseous necrosis

Question Number : 103 Question Id : 630680202047 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Identify the INCORRECT option.
Options :

1. #* Tagteer - Filtration

2. # Irgha - Removal of froth

3. ¥ Tarseeb - Drying

4. % Ahraaq - To burned

Question Number : 104 Question Id : 630680202048 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The term Musaffa is used with:

Options :

1. ® Gulaab

2. ¥ Kharateen

3. # Jawa khaar

4. % Basud

Question Number : 105 Question Id : 630680202049 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Amel e Tahmees is related to:

Options :

1. # Parah

2. ¥ Aabresham

3. % Salajeet

4. % Shingraf

Question Number : 106 Question Id : 630680202050 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following drugs is NOT included in Tirphala?
Options :

1. # Halila

2. % Behman

3. % Amla

4. % Balaila
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Question Number : 107 Question Id : 630680202051 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following Tukhms are NOT part of Chahar Tukhm?
Options :

1. # Tukham Kanocha

2. % Tukham Baartang

3. ¥ Tukham Halba

4. % Tukham Asabghol

Question Number : 108 Question Id : 630680202052 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Identify the INCORRECT pair according to Juz Khas / Juz Azam.
Options :

1. # Anushdaru - Amla

2. % Barshasha - Afyun

3. # Dayaqoozah - Post khaskhash

4. ¥ Safoof Bars - Sohaga

Question Number : 109 Question Id : 630680202053 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The cooling of a dead body is also known as:
Options :

1. * rigor mortis

2. % algor mortis

3. ® post mortem lividity

4. # condense mortis

Question Number : 110 Question Id : 630680202054 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Rigor mortis indicates:

Options :

1. # clinical death

2. % gystemic death

3. ¥ molecular death

4. # somatic death

31/42



4/3/23, 12:25 PM

Question Number : 111 Question Id : 630680202055 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are examples of organic acid poison, EXCEPT:
Options :

1. # oxalic acid

2. ® salicylic acid

3. % hydrochloric acid

4. % acetic acid

Question Number : 112 Question Id : 630680202056 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is a fatal dose of Jamalgota?
Options :

1. ® 2 seeds

2. % 4 seeds

3. ® 6 seeds

4. % & seeds

Question Number : 113 Question Id : 630680202057 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Barrel shaped is seen in:

Options :

1. # asthma

2. ¥ emphysema

3. % pneumonia

4. % rickets

Question Number : 114 Question Id : 630680202058 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Koilonychia is examined in:

Options :

1. # Ain

2. % Lissa

3. % Zofr
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4. * Namash

Question Number : 115 Question Id : 630680202059 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Thickened nerves may be found in:
Options :

1. # Ugam

2. ¥ Juzam

3. #* Diq

4. % Atshaq

Question Number : 116 Question Id : 630680202060 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Anchovy sauce pus is a feature of:
Options :

1. # splenic abscess

2. # lung abscess

3. ¥ amoebic liver abscess

4. * tubercular abscess

Question Number : 117 Question Id : 630680202061 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Clubbing of fingers is NOT found in:
Options :

1. * ulcerative colitis

2. # lung abscess

3. % acute bronchitis

4. % empyema

Question Number : 118 Question Id : 630680202062 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Puddles sign is related to:

Options :

1. * meningitis

2. % encephalitis
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3. # arthritis

4. ¥ ascites

Question Number : 119 Question Id : 630680202063 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Adilla Nabz are in number.
Options :

1. %5

2.% 7

3.% 8

4.4 10

Question Number : 120 Question Id : 630680202064 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Hansen’s disease is also known as:
Options :

1. * Qarooh al raham

2. % Dawali

3. ¥ Juzam

4. % Anurizma

Question Number : 121 Question Id : 630680202065 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Bol Ashqar is a sub type of:

Options :

1. * Bol Ahmar

2. ¥ Bol Asfar

3. * Bol Akhzar

4. % Bol Aswad

Question Number : 122 Question Id : 630680202066 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Nabz Sulb is related to the:

Options :

1. ¥ Qiwam Aala
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2. % Miqdaar
3. % Malmas shiryan
4. % Wazan Nabz

Question Number : 123 Question Id : 630680202067 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Bol Ghassali is found in:

Options :

1. # Zoaf e Kulia

2. # Zoaf e Meda

3. ¥ Zoaf e Jigar

4. % Zoaf e Tihaal

Question Number : 124 Question Id : 630680202068 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Koplik’s spots will develop in:

Options :

1. % HIV

2. % rubella

3. ¥ measles

4. % mumps

Question Number : 125 Question Id : 630680202069 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Bilateral chest movement will be diminished in:
Options :

1. # consolidation

2. # pleural effusion

3. % obstruction of the main bronchus

4. ¥ emphysema

Question Number : 126 Question Id : 630680202070 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Breastfeeding week is celebrated:
Options :
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1. # from 1 to 7 July
2. % from 1 to 7 August
3. % from 5 to 12 September
4. % from 5 to 12 November

Question Number : 127 Question Id : 630680202071 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Neonatal jaundice is clinically detectable when the serum bilirubin is:
Options :

1. * more than 1 mg/dl

2. # more than 2 mg/dl

3. % more than 3 mg/dl

4. % more than 5 mg/dl

Question Number : 128 Question Id : 630680202072 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The average age at which the first tooth erupts is:
Options :

1. # 4 to 5 months

2. % 6 to 7 months

3. % 7.5 to 8.5 months

4. % 9 to 10 months

Question Number : 129 Question Id : 630680202073 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Crigler-Najjar syndrome is associated with:
Options :

1. % Warm masana

2. ¥ Yerqaan

3. # Tahbbuyj

4. % Bawaseer

Question Number : 130 Question Id : 630680202074 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is NOT part of the internal genital organs?
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Options :
1. ¥ Mahbil
2. # Qazifain
3. ¥ Shafran Saghir
4. # Khusiyat al Raham

Question Number : 131 Question Id : 630680202075 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Montgomery’s tubercles are evident in:
Options :

1. % genital tuberculosis

2. ¥ pregnancy

3. % leprosy

4. % AIDS

Question Number : 132 Question Id : 630680202076 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
FSH is produced by the:

Options :

1. # thyroid gland

2. % anterior pituitary gland

3. % posterior pituitary gland

4. # gonads

Question Number : 133 Question Id : 630680202077 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The best treatment of Rataq is:

Options :

1. # Tangia Maadah

2. # Aab Zen

3. ¥ Jarahat

4. # Dalak

Question Number : 134 Question Id : 630680202078 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Which of the following hormones is NOT secreted by the corpus luteum?
Options :
1. ¥ Progesterone
2. % Relaxin
3. # QOestrogen
4. % FSH

Question Number : 135 Question Id : 630680202079 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The commonest site of fertilization is:
Options :

1. #* the isthmus

2. ¥ the ampulla

3. * the infundibulum

4. % interstitial

Question Number : 136 Question Id : 630680202080 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Burns of the trunk are considered as of burns.
Options :

1. % 18%

2. % 9%

3. % 72%

4. % 36%

Question Number : 137 Question Id : 630680202081 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
A Colles fracture is a fracture of:
Options :

1. ¥ Zande Aala

2. % Azd

3. % Zande Asfal

4. % Katif

Question Number : 138 Question Id : 630680202082 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
A burns associated ulcer is called:
Options :
1. # Cushing’s ulcer
2. % curling ulcer
3. * trophic ulcer

4. % peptic ulcer

Question Number : 139 Question Id : 630680202083 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Murphy’s triad is seen in:

Options :

1. ¥ Warm Mararah Haad

2. % Warm Mararah Muzmin

3. ¥ Iltchaab Zaydah Aawer Haad

4. % Tltehab Banqras Muzmin

Question Number : 140 Question Id : 630680202084 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are included in Charcot’s triad, EXCEPT:
Options :

1. * pain

2. # jaundice

3. ¥ vomiting

4, % fever

Question Number : 141 Question Id : 630680202085 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Murphy’s sign is related to:

Options :

1. * acute meningitis

2. % acute pneumonia

3. % acute dehydration

4. % acute cholecystitis

Question Number : 142 Question Id : 630680202086 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Zollinger-Ellison syndrome is related to:
Options :
1. %* DM
2. ¥ peptic ulcer
3. # ulcerative colitis

4. * bronchial asthma

Question Number : 143 Question Id : 630680202087 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Herniation of only a portion of the wall of the intestine is known as:
Options :

1. * omentocele hernia

2. % crural hernia

3. * Nuckian hernia

4. % Richter's hernia

Question Number : 144 Question Id : 630680202088 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Zarqah is disease of the:

Options :

1. % ear

2. ¥ eye

3. % nail

4. % jild

Question Number : 145 Question Id : 630680202089 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Trachoma is a disease of:

Options :

1. ¥ Ain

2. % Uzun

3. % Halaq

4. % Lissa

Question Number : 146 Question Id : 630680202090 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Shiyaaf Abyaz is used in:

Options :

1. #* lack of appetite

2. % hearing impairment

3. * insomnia

4. % conjunctivitis

Question Number : 147 Question Id : 630680202091 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT part of the inner ear?
Options :

1. # Semicircular canals

2. % Cochlea

3. % Vestibule

4. % Eustachian tube

Question Number : 148 Question Id : 630680202092 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Bleeding from the nose is also known as:
Options :

1. # Bol ud dam

2. % Nazf

3. ¥ Roaaf

4. % Utas

Question Number : 149 Question Id : 630680202093 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Weber’s test is used for the examination of:
Options :

1. * Halaq

2. % Anf

3. % Ain

4. % Uzun
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Question Number : 150 Question Id : 630680202094 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Nuzul-ul-Maa is a disease of the:
Options :

1. ® eye lid

2. % retina

3. ¥ lens

4. * 1ris
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